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What mark did Guru Nayak have on his
chest ?

Name two creatures which are extinct in the
wild state but survive in zoos.

Why did Gerald Durell move around the zoo
at midnight ?

Why were student’s mind “crippled” in India ?
Where does Tagore want God to lead the
mind ?

What does the poet (Frost) say about the
owner of the woods ?

Why does the poet compare his mood to a
bird ?

Where does the poet stop ?

Why did the astrologer think he had
committed a2 murder ?

Narrate the theme of the lesson Education:
Indian_and American and discuss in detail
your views on the education system.

OR
Bring out the patriotic fervor as depicted in

the; poem Where the Mind is Without Fear.
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5 following into indirect k.

e

(An ,

1) Rldhhl gaid to them, Let ug By
p]cmc t

@ The teacher gaid, “Fortune fav‘)ms
prave’.

@3) The child said,

“What
rden!” i bea“ﬁ[%
ga

4) The employer gaid to the workmen.
cannot’ ‘pay you higher wages’, |

(oy ‘Please don’t go there”, He saig,

6 *Sachin sald “Where shall I be th‘sh
S netf yeal

(7) He said, ‘I clean my teeth twice a day

®) Fill in the blanks with proper conjunctis

given below : (Any Six)

() __ he watered the plants, thy
did not grow well. i
(ile B) Or

(2

) : you tell me the secret, I sha!
punish you.
(é) U’ (B) Though
(C) However D) U less

@ 3
s‘ﬁ:y crossed eighty-five years, ——
1S quite strong.

&) y
o B) poth

©

Eh) [ heard the explosion I re
out of the bulding
(A) That (B) But
(C) Till (D) Whe
(5) Sit properly feave fhe
(A) And B So
(Cy Or (D) Un
© ___good health and body.
not selected for the army
(A) Or ®) In
(C) But o) B

(7 Ask him to speak

never Step.
(A) And B t
(C) As D) 1

Use the following In meaningful
(Any Six)

(1) Wind up

(2) With a view 10

(3) According 10

(4) Come across

(5) Look After

(6) Shut down

Put off

@) While *wolm 1 3
2



to indirect
SPeegy

, “Le (4) __ 1heard the explosion, I rushed
? t us gq t°.tby. out of the building.
” ’ (A) That (B) But *
6}
rtune faVOurs the (C) Till (D) When :
‘What :
4 bea‘“t.lfn]f (5) Sit properly leave the class!
to the workmen *| (A) And (B) S.o that
:her Wagesn. A (C) Or (D) Until
ere’, He said.
~ v (6) good health and body, he was
> shall T be this time not selected for the army
g (A) Or (B) In spite of “
/ teeth twice . -
G ll (C) But (D) Because 3
r junction _ ’
e () Ask him to speak he will !
| never step. ’
ed the plants, they A) And B But -
(C) As (D) Until e
(B) Or
d
(B S (C) Use the following in meaningful sentences : 6
pal (Any Six)
ne the secret, [ 8 (1) Wind up
2) With a view to
(B) Though 2 :
(3) According to
(D) Unless

(4) Come across
(5) Look After
;ﬁve years, — (6) Shut down
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Translate the following passage into
Gujarati or Hindi

In modern age, all the school going boys ang
girls should be like Eklavya. When Drop;
demands Eklavya’s thumb as his gurudaksin;
he neither hesitates nor denies. We should
also practice the same discipline and patience
in our school life. Students should give respec

RO

]

B. Sc. (Se
De

Chemistry : |
(Inos

and reverence to their elders and teachers me ° 2; Hours|

They should ,practice great discipline and
obey,the advu:es and orders of their teachers.
A student should be an epitome of courtesy
and dlscxplme Politeness and humbleness
should be the identity of his character.

Draft a dialogue between a doctor and his
patient discussing the latter’s sickness.

OR
Draft a dialogue between tWO friends
discussing the effects of cinema OD youth

285 sl el ¥
(1) 2z-d AR Gel
(2) 28 AL G
(3) 2= Al G

515 YRl 6+l walol
(1) Lidl stetsicdls
(2) stetdicdls Al
(3) “‘Pysu Ale”

518 U8l Sl walel
(1) [HAus 2edq
(2) dvidd NaClH
(3) ©-2r Ayud

518 el A+l ¥ale
(1) resadly A4l
(2) A=A AU~

(3) &lreL ed g
AAU®Ls &R
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ars, AS Wol AL FUN W 18
tesy () 2 MR Geledw AR L.
nesa @) - AR Gudell Al
B G 2 Rl Bl Al
d hi A wBL AL YUR AW ¢ 17
N (1) Lt seluedls el [ A4 @ull.
(2)  sioldiedls AN AN AHNAL.
1 e " D
Ranita (3) oy A" AN yual.
outh A6 wel Al YU AN 18
(1) FAud :2d g ? A wsr agldl.
: (2) @visd NaCll slagidi ug &IREL Al
(3) S-23 Aymd &Sl ANl
[ A8 we Al yas 2 17
(1) woesady ddelml 64 wHidr -0 Reld 4l
(2) A-sdld Aol @A AN @w,
3)  ael w2d 4 7 wedls are ks w1 Red
valbs sizel A de e s
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(Organic Chemistry)
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e {l) S W gR WG o O
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‘3) WQ‘I "31’. wh e r‘f(_ 5A:4 /’
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“" b ity w3 A YY Be o R

8t ven pndan As B 2o

m 12 :',p,fiqq,fﬂ A0 Aepr, Hfa w »%

WMz aph s we A Geva aeend
B A e ulenA wnlaln e

e
1 v@"m BN oo
¥ et S ey S,

~ - O
Blsmbnll masn 2oy gmas

2




5 oL A Al L AN ENGI
1) S huda WAl Faeu-dl Hadl ?44-0.»

P Seoddos R 2,3,6-2U-O-BUSE 3¢aR B Jy  pnstructions * (1) Z-
YRAR S, ‘ o

© o-al e 3° el (-OH) Wqs @ F
n

Rold e saladl Wil 2.

@) W a—-D—dgau-usd—B-D-gsalet

QAASE B, ANl 1 Answer any two

(1) What is molec

compound ha
3 AR A Sl AL AW
carbon-carbon

- :
(1) uddl wqe eweled W -y aul. isomerism — ¢

@2 E, i Epp Bulal ayiwdl. 7 (20 Draw the cor

@ SN? wBul Bull = dd  wasia mmeni isomers of |

g ! explain their

4 AN d G-l ¥ W) | H;C@_
| . C—CH, —PC5
(1) AaAdl gl wqsy UYL Y !

N~ OH

@) [zad 13
U UG A w3y W) Explain streoc

e
KHSO, A
© Ag,0 i : Answer any two :
@ Kumno, () Hydrolysis of |
®) &@q ri-O-methy]
300110 | . e
2 EA-300119 |

[ Co'




(N0 N A
EA-300118  searNo

B. Sc. (Sem. V) Examination
December — 2020
Chemistry : Paper - CCCH - 503

s B

; 1
Time : 2—2- Hours| [Total Marks : 70

N = 602 x 1023 ¥a'!

6.627 x 1027 A5 = 6.627 x 1034 ga A5~
I 138 x 10716 wlada! = 138 x 1023 e v
€=3 x 1010 A [ A5~

R = 1987 2adl »ia! Wa! = 8314 %4

"= 06500 gdu

A = 108 0 = 10710 R

17

Al 2R A AL Fas 2N 18
() Suetl dlorues o safaal w2l 2ARs 21 Bled
woudl 22 g ? Hua s Gelesl as 2l oA
wendl w2 Sl - suldl Slu-dl g4 Y2[Fua
o wglt qre w1 8. Allbid 53).

(o) nadl-uadl Asel a2 A 5. 24 G-t 4
& A wwondl. nadl ALl Mz s Aadl.
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() ks A A alsdl SN 4R dslag ML il R &
An% §. A 2e.l eedll  [tela Aly, ! ) 180 & A
(CHACOOH) i s 2is (Kg)g g *
: Agl
TSR0 3 3 L 4 B d wHd), g
| Ag
i 5 QA AR A AL sl ML l 0.1
lﬁ (a) Rlresitl WA RIS dglad 3 eald, | 3 AgBrl
,,‘ a0 iRl Asd Hed (AdRal fué N5A A Ol | 4, AgCN
3 Aadlresaud wMlsR8L diRdl. F KBr 2 |
a () RadRel sa- ue wvoadl ady (A Yol diRdl @ |
i (s) COML s
Q —187x1020x M32 x 732 x ¥ |
: 3 ¢ h Gl &L
(5) sau, AU 2 Aoyl el R >udl. A5 ‘f
Sluu(ldi S Ude, 4 dld w3 s el . A anial | SRR
A8l edl 4g%9 Ad Al 2 d) ‘
() A9 slou Sl diciasL 8
(u) AQY %l z.at VL Qi Aetas - (8) Qelwz-)
(iii) & s o WAL »A A5 yel 91e) Qs VRAIR M
AMlaL Y.
vl (A
3 *(ﬁ?l)'uﬂizu WA Qe ogqoy i " My
) 45 4y ey (o | ‘ Q) €
o (Chain) stgdlszel w2q afian el
() ey
MR g @& (i) 10"
EA ) RRY 93 Qg o FUA Yool 32 53, 0,853
300115 1 Cllsre quaqq ‘
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Al 2R Q@ aHL FU NI
(a) 18° A v QAL AN ey 0,015 dlee B,

AgBr(_\_) Agl 'NS(S)
Ag + it Ag

0.1INKBr ||0.1N KCNS
R AgBrdl oedld gl 7.2 x 107 A dler! $i
dl, AeCNSHl sletdl 4.

KBr 4 KCNS-l [@dlg 2y 3 a8idl.

COMI #idrdld »idr (o4 douss) 1.13A 8. nud
Galrd aely saHl A =gl wf (gaxi) 2@l

wauedly e 12C=1.99 x 10726 kg (m))

16 ) = 2,66 x 1072 kg (m,)

Qedlyz-l 3 3l 10,000, 30,000 A 1 @M
wgelz 4adl 3 MR w2d-d addl 8. 3

sorott Pimell quadl DML A3l W2 Mp #ia
My i,

(1) £2s NdlHz "2sil 4l 9%+ 4ladl NdlHR
¥l

0% 2 105 MU quadl & 28l 0.145 ¢
0855 (a%-1dl) syeiivzmi (s szudl el
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Structural Analytical Chemistry-IV
(New Course)

Time : 2 Hours] [Total Marks :

1 3 A A Nl GdR 2

(1) 2 HyO,d Getszel @ A1 fsil yil 43,
yHANdl.

Cop C, | oh
ch
B AR SA4 Gelgel 4 Wlid A 3
sz=cl,sé=C2 »1 S¢=E.

Sn d-l Ayel el yul 53, 42U Gelewl 4
2iglazi-l Heedl Sy @ HER Al A 3,
s2=cb »1 Si=E

o d & Ul Gdr M) :

(1) NMR asuesi qfels @aid a4,

(2) NMR-L 24lel qefyeqd a e-ilaal -l
gl 2l 53
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(@) o 3 ¥, Ba{l Wyl 20l viyig W
@ ¥t ¢ 130, §
(A) triplet y 873 3H
quarter y 6.34 2H
(C) singlet y 5.87 2H
(D) singlet y -0.95 1H
(2) H%{"l X Cng()
(A) quintet § 2.06 2H
(B) triplet § 2.41 4H
(C) singlet § 7.17 4H

3 MW A q wa- Gur W
(1) 325 22 g ? yasl Rugid avld] A ns3) ¥R,

¥ WA YA Ay o).
(@) NRoARs AR A2d g ? YRoARs AR Yo
A2 AR AgHIUAN] 2OL4s WA 3 53,
(3) s Babs Ak H3A - 20 By 0.1 m slasty
0.1 m NaOH ¥ atqsiuq s3qi oy 21 Ry

HHged g Aoy uay 2 Gy wi Mg PigA
PH 2],

(Ko =1x107, K, =1, 1078, Ky =1x10:8)
4 A Q4 q yaiq Gz 1Y) :

M Cy wBame wy 33 A dor 23 yRoel

UKL wg 3 419y Geleg Y dAel oy wM
drdl qu yyfy Ay %¥elld),

AR Yuqq sy Any B

ATt sy e o) ealq) NMR
Riore 2qyg 3 %eUq) . e

(3) 254 ¢ :
(1) “82 gqe)
(0) A 2yAw
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ENGLISH VER!

Answer any two of the follow

(n

(2)

(3

(B)

Fill up the following mult
trans H,0, and exphm)
Cy | E C, <
ch
Prove SZ2=C} Sg=C} and
example of staggered eth
Explain the meaning of s
by suitable example and it
that

Answer any two of the
(1) Explain chemical shi
(2) Discuss the methods

the complex spectra

-

Answer any one examplh
structure
(1) MF : C4HgO,
(A) triplet v 8.73
(B) quarter y 6.3
(C) singlet vy 587
(D) singlet v -0.9
(2) MF : CgHyq
(A) quintet 3 2.06
(B) triplet 3 2.41
(C) singlet 3 7.17
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(o) AR w5 ward el 4lazdlz %ais w1,
(1) AsmE Bl () Write any one in de
: (1) Write note 0D ]
(1) H4laLL (2) Write note on 1
(2) 59U "
3 o, NN s . ite any two In
@) AsuS-Be Asamer sl d-) Gy 2 1) m’l Give synthesis
(2) Give syntheses
A2 el wsdiidl S5ueL B BAIGL S5u] uy Black-T.
B e | (3) Give synthesis
(1) <%t »ied 9 7 blue.
(2) ¥us adld Quudl 515 Yol 6 IdUsL M ‘
3) sdEAl stely Yo @vil. () e ‘;',‘ihlr;f
§ \ ~ . . - . (1' lve S :
@) #ulsadid Pisd S6uel s Gerewsl sl (i) Indigo
5) Bea qelded ouirely 3z quil. _on C"“‘g =
©) ey s1 i dilg s o avl. | (2) Give Synthest
() =211 Pis wgiz gqui) -
®) = : : ' : answe
i ?&ﬁa'{ Vs AT Hig seesdl WA 50l D108 Write any e g
& ! (1) What s chromoge
9) AAME-BY + o 2y Write the name |
o4 13 "
(10) [5'{1%5{@[1-1.3%{ .i'éﬂq ¥ el indxcntor
A1) 652 gt s L 32 A, (3) Draw the structun
po ity ML Aye| DIy @ 7 (4) Ciwe any S0 SXa
2) Mawse Al 3l - - (%) Desw Uhe stroctuns
YA @) @) Whah dye was ER
7y Weae the tyge o
ENGLlsH VER s Alswews dye b 4
l : SION A
(a) Write any twg in d : w  Deew e WMt
(l, wf}:lat T dye 9 w‘ﬂ-all : (30 (Vraw ihe o
Ol dyes a(:(:o'-d‘ln Note on ¢l % aath -
: assifical’
2 wnh example, b Methgg oi‘b:oloul‘“q (1)) W = ——
:3) Write note o, OPlicy| (g Deee e @Rt
) g/hat Tl'e (.:hromoph;:r l)rightners P
e classification o L. -
constitution. dye acc(;)c;‘_m .
rding '
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